Use the table to answer the questions.
Wakefield | Bradford

City Leeds Liverpool | Coventry

Population | 720,000 316,000 | 467000 | 440,000 | 305,000

What is the difference between the highest and lowest population?
Which two cities have a combined population of 6210007
How much larger is the population of Liverpool than Coventry?

Use the table to answer the questions.
Wakefield | Bradford

City Leeds Liverpool | Coventry

Population | 720,000 316,000 | 467000 | 440,000 | 305,000

What is the difference between the highest and lowest population?
Which two cities have a combined population of 6210007
How much larger is the population of Liverpool than Coventry?

Use the table to answer the questions.

City

Leeds

Wakefield

Bradford

Liverpool

Coventry

Population

720,000

316,000

467,000

440,000

305,000

What is the difference between the highest and lowest population?
Which two cities have a combined population of 6210007
How much larger is the population of Liverpool than Coventry?

Use the table to answer the questions.

City

Leeds

Wakefield

Bradford

Liverpoaol

Coventry

Population

720,000

316,000

467,000

440,000

305,000

What is the difference between the highest and lowest population?
Which two cities have a combined population of 6210007
How much larger is the population of Liverpool than Coventry?



T e DL 100m | Shotpet | - 22M ik
) Sack race ; Sack race

sprint (s] () s) (m) sprint (s) (m) s) (m)

Amir 155 65 189 1.2 Amie 155 65 189 12
Dara 16.2 75 201 133 Dora 16.2 75 201 133
Teddy 15.5 69 19.3 139 Teddy 15.58 69 19.3 139
Rosie 5.6 7.2 187 141 Rosie 15.6 7.2 187 141
Ren 17.9 6.3 187 13.3 Ren 17.9 6.3 187 13.3

Ron thinks that he won the 100 m sprint Ron thinks that he won the 100 m sprint

because he has the biggest number. because he has the biggest number.
Do you agree? Do you agree?
Explain your answer. Explain your answer.
100m | Shotput | 0M | javelin 100m | Shotput | 2°™ | Javelin
: ack race _ Sack race
sprint (s) (m) (m) sprint () (m) (m)
(s) s)
Armir 155 65 189 n2 Armir 155 65 189 2
Dora 16.2 75 201 13.3 Dora 16.2 75 201 13.3
Teddy | 158 69 19.3 139 Teddy | 158 69 19.3 139
Rosie | 156 72 187 141 Rosie | 156 72 187 141
Ron 179 63 187 133 Ron 179 6.3 187 13.3
Ron thinks that he won the 100 m sprint Ron thinks that he won the 100 m sprint
because he has the biggest number. because he has the biggest number.
Do you agree? Do you agree?

Explain your answer. Explain your answer.



This table shows the 10 largest stadiums

in Europe.
Stadum Chy Courtry | Capacty |
Carp Nou Bercelona Spain 99,365
Wembley London Erglard 50,000
Signal kdura Park Dartrund Germany 81359
é:::fu Macnd Span BI04
San Seo obliary Iealy soma
Stade de Frarce Paris Franca 80,000
Luzhniki Stadiam Mescow Fussin 7E,300
Am;:'ﬁ;:o v Istarked Turkey 6092
OM Traffard Manchester Erglard THEN
Alligne brena Murich Ger many 7S000

True or False?

The fourth largest stadium is the San
Sira.

There are 6 stadiums with a capacity
of more than 80,000

Three of the largest stadiums are in
England.

This table shows the 10 largest stadiums

in Europe.

St ity Coury | Capaoity |
Carg Mou Bercelona Sprairi #9365
Werrbloy Londan Erglard 20,000

Signal ure Park | Dortrwed | Germany #1350

ES:::’“ Macrd Span 1044

San Sre Mian Ity a001a
Stade de Frarce Farls Franca 80,000
Luzhniki Stadiom | Mescone Fimsia 78,300
""""‘3’:‘63";’:“”“' Istarbul Turkey 6092

Ol Trafford | Manchester | England 75EM
Blliang brena hunich Cermany 5000

True or False?

The fourth largest stadium is the San
Siro.

There are 6 stadiums with a capacity
of more than 80,000

Three of the largest stadiums are in
England.

This table shows the 10 largest stadiums

in Europe.
Stadhum Cly Country | Capaciy |
Camp Moy Bercelona Spain 365
Wermblzy London Erglard 80,000
Signal kdura Park Darrrand Germany 81359
E?L“:‘: Madrid Zpan 81,044
San Sig Mol Iy anoia
Stacke de France: Paris France BO.000
Luzhniki Stadium Moscos Fussia 7E,300
»‘\-.a’-\js""ﬁ::‘\? vl [EETT Turkey 092
Ol Traffard Manchester Ergland 75BN
Allignz Arena Murich Germany 75000

True or False?

The fourth largest stadium is the San
Sira.

There are 6 stadiums with a capacity
of more than 80,000

Three of the largest stadiums are in
England.

This table shows the 10 largest stadiums

in Europe.
Stadum Ly Couniry Capacity |
Cairg Mou Barcelona Spain #9365
Werrbloy Londan Ergland 20,000
Signal ura Park | Dortrund | Germany 31,359
;:a‘:‘: Madrid Span 1044
San Sie Mian nsly a0,018
Stacke o France: Farls France BO,000
Lughnki Stadium | Moscow Fussin 78,300
""’":S""ag":':‘" A stankbul Turkey 6052
Ol Traffard | Manchester | Ergland 7561
Alliang Arena Murich Germany 75000

True or False?

The fourth largest stadium is the San
Siro.

There are 6 stadiums with a capacity
of more than 80,000

Three of the largest stadiums are in
England.



